N FEER

3 %
FHEEHR
FE#ZEH
B oM
BEES

EE A
EREER
mRRLEREHELE
AR R
18-19-23-008



BHBEERNRE

SISFEEREERBFEMICERE

% R B - RRSTiE B 2 fifl i) ]

E R 4,932,211
EREEREH 4,932,211
BRI (Rt EHER) 4,932,211
EEAGE 4,909, 760
EFEtE 126, 960
1-1 B etE 1.00 126, 960 126, 960

=
EHTEE 358, 800
1-2 #FHEE 13.00 217, 600 358, 800

=]
ERE 3] 4,424,000
1-3 |MHEH (KRiffg) 1.00 4,424,000 4,424,000

=
BEERE 22, 451
REXBE 22, 451
1-4 REXBE 1.00 22, 451 22, 451

=
REE 2,051,700
EREEREH 2,051,700
BEEXHE (ERRERR) 2,051, 700
EEAGE 1,694, 000
ERE 3] 1,694, 000




SHBERNRE SHSFEEREEBFERIBERHE

2-1 W EFH (EE&F) 1.00 1, 694, 000 1, 694, 000

=
EERE 357, 700
B E 357, 700
2-2 5S4 FNUET 1.00 357, 700 357, 700

=
REE 1,099, 248
ERABERER 1,099, 248
BEiEAE 1,099, 248
ZREE 1,099, 248
ZREE 1,099, 248
-1 FHE%ME 3.00 22,110 66, 330

=
3-2 L—45—&& 3.00 274,796 824, 388

=
3-3 HIfLZAE 3.00 25,510 76, 530

=
-4 AEHROEE 3.00 44,000 132, 000

=
BRI 599, 346
ERABIERERE 599, 346
BRI 599, 346
BEEAGE 569, 650
BEEOEIAEDKRE 136, 100




BHHEENRE SHSEE RS EREEMIDELR

-1 HEEDRIAE 1.00 136, 100 136, 100
r—2Xx
[5Z 433, 550
4-2 EHBSTERREERK 1.00 433, 550 433, 550
=
EERE 29, 696
EERARE 5, 696
-3 EHEARE 1.00 5, 696 5, 696
=
EBERERE 24,000
-4 ZBERREE 1.00 24,000 24,000
=
EEI=E 568, 093
ERIBEEE 568, 093
MR AEER 568, 093
EEI=E 347,824
ERTAEANE 347,824
5-1 {EZ&FHE 1.00 55,220 55, 220
=
5-2 EERB L UVRIIADKE - #A 0.02 3,804, 900 76,098
k m2
5-3 UAVIZ & 5 ZEHiRE 0.02 2,295, 000 45,900
k m2
5-4 =ZRTHIKET 0.02 1,269, 100 25, 382
k m2
5-5 mERE 0.02 2,440, 800 48,816
k m2




BHHEENRE SHSEE RS EREEMIDELR
56 ZRTRBT 2774 ILDERK 0.02 2,177, 300 43, 546
km2
5-1 MTET — 2 ERK 0.02 2,643,100 52,862
km2

HHRE 161, 100
HHRES 161, 100
5-8 HWBREE 1.00 161, 100 161, 100

oo
EEEE 31,947
REXEE 1,947
5-9 IREXEE 1.00 1,947 1,947

=y
EFHRERE 30, 000
5-10 EFRELE 1.00 30, 000 30, 000

=y
BT EEE 217,222
RETEE 217,222
5-11 REGTEE 1.00 217,222 217,222

oo




BHEERER SHSEE RS EREEMIDELR

% g R - KSR Bifr B 2 B i & B W =
E R 4,909,760 + 22, 451 4,932, 211
BEEAGE 4,909, 760
BEiEEE 22,451
Z O fth SR f 4,909,760 x 25.00% ( 20% + (1 — 20% ) ) 1,227, 440
RHRIE 4,932, 211 + 1,227,440 6, 159, 651
—RERESE 6,159,651 x 53.85% ( 35% ~ (1 — 35%) ) — 6,623 3,310, 349
KBS 6,159, 651 + 3,310,349 9,470, 000
EEREE 2,051, 700
HEHE 2,051,700 x 27.0% — 5,659 548, 300
—REIAEEBE 2,051,700 + 548, 300 2, 600, 000
REEHE 2, 600, 000
EEREE 1,099, 248
HEHE 1,099,248 x 59.2% — 2 650, 752
—REIAEEBE 1,099,248 + 650, 752 1,750, 000
REEHE 1,750, 000
E R 569, 650 + 29, 696 599, 346
BEEAGE 569, 650
BEiEEE 29, 696




BHEERER SHSEE RS EREEMIDELR

T DR 569,650 x 53.85% ( 35% =~ (1 — 35%) ) 306, 756
RHRIE 599, 346 + 306, 756 906, 102
—REEES 906,102 x 53.85% ( 35% =+ (1 — 35%) ) — 4,037 483, 898

KBS 906,102 + 483,898 1,390, 000

EENEE 568, 093

HEHE 568,093 x 89.9% — 8,808 501, 907
AEEEE 568,093 + 501,907 1,070, 000

BB E TS 1,070, 000
BEHEE 9,470,000 + 2,600,000 + 1,750,000 + 1,390,000 + 1,070,000 16, 280, 000
HETREALE 16,280,000 x 10.00% 1,628,000
FEIZRE 17, 908, 000




=

Rifiz -/ \v7r—o

DI FEEEEBRERICERS

=
£ EBEE 1XEY
2 b g - BIRTE By = B ) # i
HEm (A)
A 2.30 55, 200. 00 126, 960
& i EZBER - 1. 00 126, 960. 00 126, 960
5 :1-2
B EBITEE HEED)
2 b g - BIRTE By = B ) # i
HER (A)
A 0.50 55, 200. 00 27,600
& i {EZ8ER - 1.00E 27, 600. 00 27, 600
5 :1-3
£F5  WHEF (HHfE) 1XEY
2 b g - BIRTE By = B ) # i
g
A 140. 00 31, 600. 00 4,424,000
& i 1EZBER - 1.00 4,424, 000.00 4,424, 000
514
2% REXEE 1XEY
2 b g - BIRTE By = B ) # i
REE HEE (GES)
= 1.00 22,451.00 22, 451
& i 1EZBER - 1.00 22, 451.00 22, 451




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 2-1
£%5 WX GE&F) 14y
2 b g - BIRTE By = B ® W = " =
EEiF (—H%)
A 70.00 24, 200. 00 1,694, 000
& Hi 1YE%HeRH 1,00 1, 694, 000. 00 1,694, 000
5 :2-2
B A RINVEST 14y
2 b g - BIRTE By = B ® W E " =
REE 54 kN2 1.5L
B 100. 00 3,577.00 357,700 4.00H / 8H
& B 1E%HeH - 1.00K 357, 700. 00 357, 700
&5 31
&% FrEEE HEED)
2 b g - BIRTE By = B ® % W E " =
RIS HRER
A 0.50 44,000. 00 22,000
MR TEHRAER
% 0.50 22,000. 00 110
& B 1YEZHER - 1.00[E 22,110. 00 22,110




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 :3-2
&% L—4—1FF HEED)
2 b g - BIRTE By = il 25 W = " =
& RE A BIHRERE R VERISAIE
A 1.00 53, 800. 00 53, 800
FEMERES BIHRERE R VERISAIE
A 0.50 39, 100. 00 19, 550
MmERES BIHRERE R VERISAIE
A 1.00 29, 100. 00 29,100
B SR E A R R CEFEIER
A 1.00 53, 800. 00 53, 800
FEMERES R R CEFEIER
A 0.50 39, 100. 00 19, 550
hERES R R CEFEIER
A 1.50 29, 100. 00 43, 650
MR FHEEDY
% 5.00 219, 450. 00 10, 972
HmRE
B 1.00 36, 000. 00 36, 000
THE LEEETD%
% 1.00 266, 422. 00 2,664
REE S4 kY 2L
B 1.00 5,710.00 5,710/5.00H / 8H
& B 1YEZHEH - 1.00[E 274, 796. 00 274, 7196
&5 :3-3
& BIFLERE HEED)
2 b g - BIRTE By = il 25 W E " =
MERES
A 0.50 29, 100. 00 14, 550
=iy 7]
= 1.00 10, 960. 00 10, 960
& Hi 1YEZHER - 1.00[E 25,510. 00 25,510




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 :3-4
& AEREROER HEED)
2 b g - BIRTE By = B ) # " =
RIS HRER
A 1.00 44,000. 00 44,000
& Hi 1YEZHER - 1.00[E 44,000. 00 44,000
5 41
& HIEFEDOEIAE 1r—x&Y
2 b g - BIRTE By = B ) # " =
AR (A)
A 1.00 55, 200. 00 55,200
e (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi YEZEREDN 1,005 —R 136, 100. 00 136, 100
&5 :4-2
£ EHTERBEEER 1XEY
2 b g - BIRTE By = B ) # " =
F{EHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
e (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 2.50 35, 600. 00 89, 000
& Hi 1E%Heh - 1.00K 433, 550. 00 433, 550




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 : 4-3
&% EHARE 1LY
2 b g - BIRTE BT H = B O 25 W = " =
EXERARE
= 1.00 5,696. 00 5, 696
& Hi 1YE%HeRH 1,00 5,696. 00 5, 696
&5 44
2% EBHRRA 1LY
2 b g - BIRTE BT H = B O 25 W E " =
EBHRERERE
= 1.00 24,000. 00 24,000
& Hi 1E%HeH - 1.00K 24,000. 00 24,000
&5 : 5-1
&5 fEXEE 1%
2 b g - BIRTE BT H = B O 25 W E " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 0.30 44,000. 00 13, 200
Bl S H A
A 0.20 34, 300. 00 6, 860
BEBF
A 0.30 32, 200. 00 9, 660
& Hi 1E%HeRH - 1.00K 55, 220. 00 55,220




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 :5-2
£ BERB LRI ADHRE - #iAl 1km2 (0.1km2)
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 4.70 44,000. 00 206, 800
Bl S H A
A 1.10 34, 300. 00 317, 730
BEBF
A 3.30 32, 200. 00 106, 260
BIEWHEE
A 1.10 217,000. 00 29, 700
& Hi YEEREN 1 0.10k m2 3, 804, 900. 00 380, 490
&5 :5-3
&% UNVIZ & B ZEdiRE 1Tkm2 (0.1km?2)
2 b g - BIRTE By = BHO(f %8 W E " =
RIS HRER
A 3.20 44,000. 00 140, 800
BEBF
A 2.00 32, 200. 00 64, 400
BIEHEE
A 0.90 217,000. 00 24,300
& Hi YEZEREN 1 0.10k m2 2,295, 000. 00 229, 500
&5 : 54
B ERTWIRET 1Tkm2 (0.1km2)
2 b g - BIRTE By = BHoO(f %8 W = " =
Bl S H A
A 3.70 34, 300. 00 126, 910
& Hi YEZEREN 1 0.10k m2 1, 269, 100. 00 126, 910




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 :5-5
B RERSE 1Tkm2 (0.1km2)
2 b g - BIRTE By = B ) # " =
BIEFEHEM
A 1.20 51, 000. 00 61,200
RIS HRER
A 1.70 44,000. 00 74, 800
Bl S H A
A 2. 40 34, 300. 00 82,320
BEENF
A 0.80 32, 200. 00 25, 760
& Hi YEZRESN : 0. 10k m2 2,440, 800. 00 244,080
&S :5-6
B ERTRBET 2T 7AILOER 1km2 (0.1km2)
2 b g - BIRTE By = B ) # " =
BIEFEHEM
A 1.40 51, 000. 00 71, 400
RIS HRER
A 1.80 44,000. 00 79, 200
Bl S H A
A 1.30 34, 300. 00 44,590
BEENF
A 0.70 32, 200. 00 22,540
& Hi YEZHESN : 0. 10k m2 2,171, 300. 00 217,730
&5 :5-7
& BET— 2 1ERK 1Tkm2 (0.1km2)
2 b g - BIRTE By = B ) # " =
BIEFEHEM
A 1.10 51, 000. 00 56, 100
RIS HRER
A 2.50 44,000. 00 110, 000
Bl S H A
A 2.30 34, 300. 00 78, 890
BEENF
A 0.60 32, 200. 00 19, 320
& Hi YE%HESN : 0. 10k m2 2,643,100.00 264, 310




Rifiz -/ \v7r—o

DI FEEEEBRERICERS

&5 :5-8
21 BHRES 14y
2 b g - BIRTE By = BHO(f ) # " =
HAETHEE
= 1.00 161, 100. 00 161, 100
& Hi S .00 161, 100. 00 161, 100
= :5-9
2% REXEE 14y
2 b g - BIRTE By = BHO(f ) # " =
REE Z it
= 1.00 1, 947.00 1,947
& B 1E%HeH - 1.00K 1, 947.00 1,947
&5 :5-10
&% EFRERE 14y
2 b g - BIRTE By = BHO(f ) # " =
ZDEE
= 1.00 30, 000. 00 30, 000
& Hi 1E%HeH - 1.00K 30, 000. 00 30, 000
&5 . 5-11
2% REEEE KL=y (K)
2 b g - BIRTE By = BHoO(f ) # " =
HAETHEE
= 1.00 21,222.00 21,222
& Hi 1E%HeH - 1.00K 21,222.00 21,222




Hlix—% SRSEEIEEBBEEMIELS
No. # g - kT By BRI ffiNo. i 4 T R - TR
2-1R@EE 4 /N> 1.5L 2-2| 54 bINUEST
A 3,577/ 4.00H / 8H

3-2

L—5—E




Bl

DI FEEEEBRERICERS

HfRES : 2-1
BfRAH  SOBE 54 /A 150 4.00H / 8H
% i g - MIRTE By £ i ] w &
HUUY
L 11.00 154. 00 1,694
#H (54 b5 et
i 4.00 185. 00 740 EERFE
#H (54 b5 G
B 1.19 961. 00 1,143 C3xl=
& B 3,571
HfiRES : 3-1
BfRAH : SEE A by 2 5. 00H / 8H
% i g - MIRT & By £ i ] " &
HUUY
L 16.00 154. 00 2, 464
B8 (54 b [ZERERE]) REFHIE HRE2 0L
i 5.00 290. 00 1,450 EERFE
B8 (54 b [ZERERE]) REFHIE HRE2 0L
B 1.19 1,510.00 1,796 C3xl=

& &

5,710




